13 GA. (MIN> GALV. STEEL
COMMERCIAL TOP ROLLER
BRACKET ATTACHED W/<4)
1/4* x 3/4" HEX HEAD
SCREWS PER BRACKET

ADJUSTABLE ROLLER CARRIER
ATTACHED W/ (2> 174" x 1/2*
BOLT & NUT PER BRACKET

18GA, 2 5/8” X 3 1/2’ BACKERPLATE
LOCATED UNDER SKIN AT
EACH ENDSTILE AND CENTER STILE

[6\
®

S 1/2°H X 18 GA. (5’ R-TRUSS)

ATTACHED W/C1) 1/4" X 3/4°
HEX HEAD SCREW AT EACH HINGE AND

~
\I{‘ll

2’ 10 BALL STEEL 9.5 STEM
HURRICANE ROLLER W/ 7/16
RETAINER FOR NON-THREADED

(1> UNDER EACH HINGE INTO BACK SKIN

S 1/2'H X 18 GA., (5 R-TRUSS)
ATTACHED W/(5> 1/4" X 3/4*
HEX HEAD SCREWS AT ENDSTILES AND

SHAFTS

TYPICAL TOP FIXTURES

(2> UNDER EACH HINGE INTO BACK SKIN

TYPICAL DURASAFE CENTER

N.T.S.

N.T.S.

@

— Y

14GA. DURASAFE

CENTER HINGE ATTACHED
W/ <4) 1/4* x 3/4"
HEX HEAD SCREWS

HINGE

14GA. DURASAFE ROLLER
CARRIER ATTACHED TO
END STILE W/ (4> 1/4”
x 3/4* HEX HEAD
SCREWS PER CARRIER

#3 14GA. DURASAFE ROLLER
CARRIER ATTACHED TO
R-TRUSS W/ (3> 1/4" X
3/4" HEX HEAD SCREWS

14 GA. DURASAFE
END HINGE ATTACHED
W/ @) 1/4" x 3/4"
HEX HEAD SCREWS

SLIDE LOCK ENGAGES INTO VERTICAL
TRACK ON BOTH SIDES 5/8 MIN
ENGAGEMENT. (SNAP LATCH, OR LOCK o
BAR OPTIONAL> ATTACH W/(2> 1/4 x
3/4'HEX HEAD SCREWS

2’ 10 BALL STEEL 95"

W/ 7/16"
NON-THREADED SHAFTS

TYPICAL

DURASAFE END HINGE @

N.T.S.

| fheed
| [hexd

3’ 20GA. STRUT ATTACHED

W/C¢4) 1/4* X 3/4" HEX

EMBOSSMENTS
NOT SHOWN
FOR CLARITY

i
il

HEAD SCREWS AT END

AND (10> ACCROSS CENTER

SPAN AT AND BETWEEN
CENTER HINGE LOCATIONS N N
INTO BACKSKIN L J i J

BOTTOM BRACKET

13 GA. THICK ATTACHED
W/(3)> 174" X 3/4*
HEX HEAD SCREWS

b g
y g
y e

#1 14 GA DURASAFE
ROLLER CARRIER
ATTACHED W/ (3
174" X 3/4* HEX
HEAD SCREWS

2’ 10 BALL STEEL 9.5*
STEM HURRICANE ROLLER
W/ 7/16” RETAINER FOR

NON-THREADED SHAFTS

TYPICAL BOTTOM BRACKET, 4
N.T.S.

FRONT SKIN 24GA. <022° MIN.)
BACK SKIN 27GA <015 MIN)

CFC-FREE EXPANDED
POLYSTYRENE INSULATION

14 GA. END HINGE
ATTACHED W/ &
1/4* X 3/4" HEX HEAD

STEM HURRICANE ROLLER
RETAINER FOR

3 3/4" MIN. _

SIDEROOM

JAMB BRACKET ATTECHED TO
JAMB W/(1) 5/16' X 1-5/8"
LAG BOLT AND ATTACHED TO
TRACK W/ (1> 1/4 X 5/8"
SPICE BOLT

20 GA. GALV. STEEL
DOUBLE END STILI

. 3'-108" ! 3’—10%'4| A THE METHOD OF TESTING WAS IN SUBSTANTIAL
16/—0" MAX CONFORMANCE WITH THE PROCEDURE DESCRIBED IN ASTM
E330, AND TAS 201, 201, 203. THE PRESSURES SHOWN ON
INSIDE ELEVATION INTERIOR OF GARAGE THE DRAWINGS WERE CALCULATED USING ASCE 7-98,/02/05
T —w!  MAX WDTH 160" |=—  |WITH THE FOLLOWING PARAMETERS (5 FEET OF DOOR WIDTH
TS IN THE END ZONE, ROOF AT ANY SLOPE):
WIND SPEED (MPH) | 174 | 158 | 150 | 143 | 137
s oesien omos TTTTTTTTTT] EXPOSURE LEVEL B c C D D
+384.0 LBS/FT <tF NOTES 1 MEAN ROOF HEIGHT | 30 15 25 15 25

—416.0 LBS/FT

STOP. MOULDING
W/ FLEXIBLE SEAL

(SUPPLIED BY INSTALLER)

2 X 6 SOUTHERN YELLOW PINE
(NO. 2 OR BETTER)

1) 2-1/72* X 3-1/2* 18 GA GALV.
STEEL BACKER PLATE GLUED TO
INSIDE EDGE AT TOP AND BOTTOM

OF EACH STILE LOCATION .

2" GALV. STEEL TRACK

TRACK THICKNESS .083"

#3 14GA. DURASAFE ROLLER

CARRIER ATTACHED TO R-TRUSS
W/ (3) 1/4" x 3/4*
HEX HEAD SCREWS

S 1/2°H X 18 GA,

]
%a ® 9
L 7

(3* R-TRUSS>

TRACK MOUNTING DETAIL
N.T.S.

SPECIFICATIONS AND NOTES

1. ALL THE LOAD FROM THE DOOR IS TRANSFERRED TO THE VERTICAL TRACK,
FROM THE TRACK THE LOAD IS TRANSFERRED TO THE VERTICAL JAMBS.

THE HORIZONTAL JAMB OR HEADER RECEIVES NO PORTION OF THE LOAD
TRANSFERRED FROM THE DOOR.

2. EACH VERTICAL JAMBS RECEIVES MAXIMUM DESIGN LOADS OF:

+384.0 LBS/FT & —416.0 LBS/FT

3. DOOR AND HARDWARE WILL BE DESIGNED, MANUFACTURED

AND INSTALLED WITH STANDARDS AS SET FORTH BY DASMA.

4. DOOR SECTIONS SHALL BE 24 GA. (.022) MIN. EXTERIOR SKIN

ROLLED FORMED, W/ BAKED ON POLYESTER FINISH

5. DOORS UPTO 7°0" HIGH CONSIST OF (4) SECTIONS AS SHOWN.
USE (1) 5.5" R—TRUSS PER SECTION AND (1) 3" 20GA STRUT ON BTM. SECTION
6. DOORS OVER (4) SECTIONS REFER TO TABLE 1

7. SUPPORTING STRUCTURAL ELEMENTS SHALL BE DESIGNED
BY A REGISTRED PROFESSIONAL ENGINEER FOR WIND LOADS
INDICATED ON THIS DRAWING IN ADDITION TO OTHER LOADINGS.

(2 13 GA COMMERCIAL TOP
FIXTURE ATTACHED W/ (4) 1/4
x 374" HEX HEAD SCREWS
ADJUSTABLE SLIDE BRACKET
ATTACHED W/(2) 1/4* x 1/2*
BOLT AND NUTS

\

RN
SRR

X

XX
XX

5’ R-TRUSS ATTACHED W/ (5>
1/4* x 3/4* HEX HEAD SCREWS
AT EACH END STILE AND (2>
AT EACH CENTER STILE
LOCATION ON TOP SECTION

7e%
K2

KX

KRS
[SSXKK

RN
SRR

V,
XX

X3
had

S 1/2°H X 18 GA, (1> PER
SECTION <5” R-TRUSS> GALV.
STEEL R-TRUSS ATTACHED W/
(3> 1/4" x 3/4° HEX HEAD
SCREWS AT EACH END STILE
AND <2> AT EACH CENTER STILE
LOCATION

R
kXX

SCREWS

XXX

XX
25054

O
I

KRN
R

XX

3’ x 20 GA STRUT ATTACHED W/
(4> 174" X 3/4* HEX HEAD SCREWS
AT EACH ENDSTILE AND (10> ACROSS
CENTER SPAN AT AND BETWEEN
CENTER HINGE LOCATIONS.

¥e%e% %
(X2
X2

>
RRKS

%

XX

LIFT CABLES

g

o

X

9,

BOTTOM BRACKET
, TTACHED
< By /4t x 34
HEX HEAD SCREWS

CONTINUOUS ALUMINUM EXTRUSION
WITH CONTINUOUS VINYL ASTRAGAL

e

>

o v.e e
2

e

SECTION A—A (SIDE VIEW)
N.T.S.

LARGE MISSILE
IMPACT RESISTANT

REV | DESCRIPTION OF REVISIONS DATE  [BY
A | REVISED NOTE 8 1/7/09 |cBT
B | UPDATED WATS AND ADDED ASCE WPH DETAL  [12/5/11 [RIR

MAX SIZE, SN,

16" x 14 = V‘EOFT *\\‘
SIZES SUBJECT TO z AV '--:46, )
WEIGHT LIMITATIONS 7 ¢ "

/ x )
DESIGN LOADS 7/ 4
+48.0 PSF HOMAS L. SHELMERDINE ¢
—52.0 PSF ’....:............................//

A < 8582 903/@3/2012
LARGE MISSILE " O,(b-.{/cENse‘?.-';\{o:

IMPACT RS ONPC
RESISTANCE ‘\ff/ONALE‘i.-'
ASCC g

arr,

165 CARRIAGE COURT WINSTON-SALEM, NC. 27105 WWW.AMARR.COM

MODEL #1200 HERITAGE 3000

MODEL #1550 OAK SUMMIT 3000
SHORT, LONG, FLUSH & OAK SUMMIT PANELS

SZE| DRAWNBY  SKW| DATE 5/08/07 DRAWNG NUMBER
B | CHECKED BY BHG| DATE 5/08/07 IRC-1216-175-26-1
ENGINEER:  THONAS L. SHLMERDINE PE. LIC. No. 0048579 | SHEET 1 OF 3



Tom
TX

Tom
TLS

Tom
Reviewed


WOOD JAMB ATTACHMENT TO STRUCTURE

2 X 6 VERTICAL JAMB ATTACHMENT TO WOOD FRAME STRUCTURE
5/16" X 3’ LAG SCREWS STARTING 6/ FROM ENDS THEN 12 OC. <1 1/2* EMBEDMENT)

2 X 6 VERTICAL JAMB ATTACHMENT TO 2,000 PSI CONCRETE

HILTI KWIK BOLT 3/8° X 4 STARTING 6° FROM ENDS THEN 24‘ O.C. (2 1/2° EMBEDMENT)

HILTI SLEEVE ANCHOR 3/8" X 2-3/4° STARTING 6’ FROM ENDS THEN 10° O.C. <1 1/4’ EMBEDMENT)
ITW/RAMSET REDHEAD (TRU-BOLT) 3/8° X 4 STARTING 6° FROM ENDS THEN 20 O.C. (2 1/2" EMBEDMENT)

2 X 6 VERTICAL JAMB ATTACHMENT TO HOLLOW C-90 BLOCK

SIMPSON 1/4” X 3“ TITEN SCREWS STARTING 6 FROM ENDS, USE PAIRS OF FASTENERS
(3’ APART)> AT 8” O.C. <1 1/2° EMBEDMENT>

HILTI 1/4* X 2-3/4" KWIK-CON II+ SCREWS STARTING 6 FROM ENDS, USE PAIRS OF
FASTENERS (3* APART) AT 87 O.C. <1 1/4” EMBEDMENT>

2 X VERTICAL JAMB ATTACHMENT TO GROUTED C-90 BLOCK (2000 PSI GROUT)
HILTI SLEEVE ANCHOR 3/8” X 2-3/4” STARTING 6” FROM ENDS THEN 127 O.C. <1 1/4*
EMBEDMENT> <OR, USE FASTENERS FOR HOLLOW C-90 BLOCK)

¥LAGS AND BOLTS CAN BE COUNTERSUNK TO PROVIDE A FLUSH MOUNTING SURFACE.
¥PREPARATION OF wOOD JAMBS BY OTHERS

WD CONCRETE HOLLOW BLOCK ‘
= STRUCTURE STRUCTURE STRUCTURE §$ggg$3_RELD°K
=
=
(M}
13 GA. FLAG BRACKET ATTACHED TO WOOD~_| 2 = =] ]
JAMB W/ (3) 5/16 DIA X 1-5/8“ LAG BOLTS N N =
AND TO TRACK W/ (4> 1/4-20 x 5/8" TRACK —l—~ I-——I
SPLICE BOLTS AND NUTS 1/2* MIN 2-3/4* MIN 1-1/2 |MIN 4
2X6 JAMB ]
TYP. 3" MIN
SPLICE TRACKS AT THIS LOCATION
[-=——J~—— W/ (4> 1/4"-20 TRACK SPLICE BOLTS & NUTS
SECURE TO JAMB WITH (3) 5/16” DIA. x 1-5/8 .
LAG BOLTS =
U
(SPLICE> () 5/16* DIA. x 1-5/8
LAG BOLT ATTACHED TO JAMB
AT EA. JAMB BRACKET
5 REV | DESCRPTION OF REVISIONS DAE  [BY
12 GA. GALV. STEEL A | REVISED NOTE 8 1/7/09 |CBT
THROUGH JAMB BRACKETS B | UPDATED WJATS AND ADDED ASCE MPH DETAL  [12/5/11 |RLR
N ATTACHED W/ (1) 1/4°-20 x S/8" ~
TRACK SPLICE BOLT & NUT MAX SIZE B AR N
16" x 14’ ,."-v;\?,.g.'.:.l'f*\‘\‘
SIZES SUBJECT TO e
WEIGHT LIMITATIONS
F- | viwo s | PHONS L SHELWERDINE J
—52.0 PSF :
! ! 3 9 (8582203/@5;/2012
5 1] | LARGE MISSILE '!\OK‘"'--/.?.E.N.S.?.’--'{-;\\\Q':
T IMPACT \\ \SS/ON ALEN
¢ . RESISTANCE A
= £ 2
B ¢ |5 N 2
N B sl lsl | arg,
A R s M 5 z|p = ti
’ ~1F * ﬁ - 165 CARRIAGE COURT WINSTON-SALEM, NC. 27105 WWW.AMARR.COM
SEE (TABLE 2> FOR MODEL #1200 HERITAGE 3000
JAMB BRACKET SPACING , , MODEL #1550 OAK SUMMIT 3000
J SHORT, LONG, FLUSH & OAK SUMMIT PANELS
STANDARD TRACK CONFIGURATION FOR 6’6 UP TO 14’ TALL DOORS 1 - _J
NS, AVALABLE. TRAGK. CONGURATIONS SZE| DRAWNBY  SKW| DATE 5/08/07 DRAWING NUMBER
NTS. B | CHECKED BY BHG | DATE 5/08/07 IRC-1216-175-26-
ENGNEER:  THOMAS L. SHLMERDINE P.E. LIC. No. 0048579 | SHEET 2 OF 3



Tom
TX

Tom
TLS

Tom
Reviewed


TABLE 3

Center Stile Section Center Stile Locations
. Locations . Panel Type 1st 2st 3rd 4th
TABLE 1 Section banel Tvoe | (Meastred from Left Width (f (in) (in) (in) (in)
DOOR SECTION HEIGHTS anel type Edge) 12]8 Shot | 5167 | 100.33
HEIGHT [Btm| #2 [ #3 [ #4 [ #5 [ #6 | #7 | #8 , 1st 2st 128 Long 52.10 | 99.90
7o 2t 2t (2 (20 [ 20 [ 2o | 21 | 21 Width (ft) i i) G SR L T T e
13'6" [21"[21"]21"[21"|21"]| 18"] 18" | 21" 092 Short 55.00 1210 Short 52.25 | 101.75
13'0" [21"[21"[21"[18"[ 18" 18" 18" [ 21" 092 Long 55.00 1210 Long 53.10 | 100.90
126" [21"[18"[18"|18"| 18" ] 18"] 18" | 21" 09']12 Oak Summit| 55.00 12'(10 Oak Summitl  52.06 101.94
12' 0" 21" | 21" | 21" | 21" | 21" | 18" [ 21" 09'l4 Short 56.00 13'(0 Short 53.00 103.00
G Il Tl el i B T 09/ [oak Summi 5600 T3l0ouk Sum| 5281 | 10319
110" 21" [ 18" [ 18" [ 18" | 18" | 18" | 21" al ummi . aK Summi . b
o6 or or ar o or or 096 Short 57.00 13]2 Short 54.00 | 104.00
00 (2020 (20 15 (15 [ 21 09'|6 Long 57.00 13|12 Long 55.10 102.90
09'|6 Oak Summitf 57.00 13|12 Oak Summit 53.56 104.44
96" |21"]18"]18"| 18" | 18" | 21" 098 Short 58.00 13[4 Short 5440 | 105.60
9'0" |18"|18"|18"|18"|18"| 18" 098 Long 58.00 13[4 Long 54.90 | 105.10
86" |21"[21"]21"]18"| 21" 098 Oak Summitf 58.00 13[4 Oak Summi| 54.31 | 105.69
8'0" |21"[18"]18"| 18" | 21" 09’10 Short 59.00 136 Short 55.40 | 106.60
76" |18"[18"|18"| 18"| 18" 09110 Long 59.00 136 Long 55.90 | 106.10
770" |217[ 217 [ 217 ] 21" 09’10 Oak Summitf 59.00 13[6 Oak Summif 55.06 | 106.94
66" | 21" 18" [ 18" [ 21" 10'[o Short 48.41 71.59 13(8 Short 56.40 | 107.60
10: 0 Long | 60.00 138 Long 56.63 | 107.38
1010 Oak Summit| 60.00 138 Oak Summiff 55.81 | 108.19
102 Short 49.32 72.68 1310 Short 57.16 | 82.94 | 108.71
10: 2 Long | 61.00 1310 Long 57.17 | 108.83
102 Oak Summit 61.00 13[10 Oak Summif 56.56 | 109.44
10714 Short 50.32 | 73.68 1470 Short 57.76 | 83.94 | 110.11
10'|14 Long 62.00 ]
TABLE 2 102 [oak Summil 6200 160 ok Sum| 5731 | 11059
DOOR TRACK ATTACHMENT SPLICE 1076 Short 50.84 | 75.17 a2 Shot | 5885 | 8292 | 1iia1
HEIGHT|A| B[ C|D|[E|F|G|H]| 1T [J]K[L]|M|[N S Sl oy || ESEY 14]2 Long 50.17 | 110.83
66 |3 |14"| 27|38 | 46" | 56" | 64" 70" 1016 OEIS ST E509 142 Oak Summi] 58.06 | 111.94
. 112 157 [ 3a" | 26" | 56" | 6a" " 1018 Short 5184 | 76.17 1474 Short | 59.16 | 8594 | 112.71
7 3" | 14" | 27" | 38" | 46" | 56" | 68 76 1018 Long 64.00 :
76 1311212738 | 26" [ 56" [ 68" | 78" 8o o8 e E'i OakLg:?n R gg.g 11113.8139
8 3" | 14" | 27" | 38" | 46" | 56" | 68" | 78" 88" 1010 Short 52.50 77.50 1416 Short 59-86 86.94 114.01
86" |3]14"]27"|38"|46"|56"|68"|78"]| 88" 94" 110 Short 53.50 78.50 e Long ST T St ' REV | DESCRIPTION OF REVISIONS DATE  [BY
9 |3 1472738 |46"| 56" | 68" | 78" | 88" 100" ﬂ:g ;?12?1 gi-‘z‘(l) %Zg 126 Oak Summi| 59.56 | 114.44 A~ | REVSED NOTE 8 1/7/09_|ce1
1 Ul n n " " " " " " " " Ul * * 14‘ 8 Sh rt 6056 8794 11531
9'6 3" | 14" | 27" | 38" | 46" | 56" | 68" | 78" | 88" | 98 106 1112 Tong 75.30 88.70 e > 0 et e e B | UPDATED TO FBC 2010 12/5/1 [RIR
10 3" | 14" | 27" | 38" | 46" | 56" | 68" [ 78" | 88" [100" 112" ' g : : : SN\
1114 Short 55.20 | 80.80 14[10 Shot | 6126 | 88.94 | 116.61 MAX SIZE -~ M\
10'6" | 3" | 14" | 27" | 38" | 46" | 56" | 68" | 78" | 88" |100"(110" 118" 114 Long 46.30 89.70 710 o 45.60 89.00 132‘40 16 x 14 = }.'\E.Qf-.rf* \\
11' | 3"[14"]|27"[38"[46"| 56" [ 68" | 78" | 88" [100"[110" 124" 116 Short 56.20 | 81.80 =1 Ty ey B S2ES SUBKCT TO N "‘--.1@‘5,
11'6" | 3" [14"[ 27" 38" [ 46" | 56" | 68" | 78" | 88" [100"[110"[120" 130" ﬂg ;Er;@rlt g-gg gg-gg =0 Tong ey | Gty || e WG LS T " %
12 [ 3"[14"| 27" 38" | 46" | 56" | 68" | 78" | 88" [100"[110"[122" 136" : ' ' 152 Short 6266 | 9094 | 11921 | || e | 2L e -
= T T T T T T T 0 T T T T T T 118 Long 47.63 92.38 ; DESIGN LOADS
12'6" | 3" | 14" | 27" | 38" | 46" | 56" | 68" | 78" [ 88" [100"[109"[122"|132 142 1110 Short 2781 | 9419 1512 Long SO D] L +48.0 PSF Qe
13" | 3" | 14" [ 27" 38" | 46" | 56" | 68" | 78" | 88" [100"[114"[122"] 134" 148" 1110 Long 4830 | 93.70 153 fho” f;go gggg iggﬁo 13040 || -52.0 PSF (A 8582903/6;91/201 >
13'6" | 3" | 14" | 27" | 38" | 46" | 56" | 68" | 78" | 88" |100"(109"|122"|134"|144"| 154" 1210 Short 48.81 95.19 126 SEZ?t 46'62 93'00 139'32 Q(”o,;'--.{/cENse?..-;«,:
14' 3" [ 14" | 27" | 38" | 46" | 56" | 68" | 78" | 88" [100"[114" (122" 134" 146" 160" 12'l0 Long 49.63 94.38 : : : : LARGE MISSILE \ SS/‘---..--'E“ N
1o o) : 15'|6 Long 47.60 93.00 138.40 IMPACT \\ O/ONALEY o=
ak Summit| 48.31 95.69 _ RESISTANCE Ml s
” . 15(6 Oak Summif 47.42 | 93.00 | 138.58 A
ALL TRACK ATTACHMENT SPACING +/—2" ALLOWED WITH SYP NO. 2 OR BETTER ONLY 12'[2 Short 49.64 96.36 ,
703 Ton 158 Short 4762 | 94.00 | 140.38
g 50.08 95.92 :
iR Sak Summil ™ 45.06 96.94 158 Long | 4860 [ 94.00 | 139.40 arr
ola Short 50.64 97 36 15‘8 Oak Summitf 48.02 | 94.00 | 139.98
B e ©1.08 96.92 15]10 Short 48.62 | 95.00 | 141.38
1202 Oak Summil 49.81 98.19 12 18 5 I(Lgng " 22(13; 2288 ij(ig: 165 CARRIAGE COURT WINSTON-SALEM, NC. 27105 WWW.AMARR.COM
126 Short 50.67 99.33 : 1S S d ; g
16 Iong 5117 98.83 160 Short 49.62 | 96.00 | 142.38 MODEL #1200 HERITAGE 3000
e ERETTTTEEE S 16]0 Long 50.60 | 96.00 | 141.40 MODEL #1200 OAK SUMMIT 3000
16'|0 Oak Summit| 48.42 96.00 | 143.58 SHORT, LONG, FLUSH & OAK SUMMIT PANELS
SIZE| DRAWN BY  SKW| DATE 5/08/07 DRAWING NUMBER
B | CHECKED BY BHG| DATE  5/08/07 IRC-1216-175- 26~
ENGINEER:  THOMAS L. SHLMERDINE P.E. LIC. No. 0048579 | SHEET 3 OF 3



Tom
TX

Tom
TLS

Tom
Reviewed


	1216-175-26-I TX UPDATED 2-23-12
	p2
	p3

